Multiplication et Division par 100 (A)

Trouvez chaque produit ou quotient.

7,173 X 100 = 6,8 ~ 100 =
3,5+100= 7,56 X 100 =
1,34 X 100 = 2,5408 x 100 =
6,728 - 100 = 9,85 + 100 =
7,01 X 100 = 5,1607 x 100 =
58x%x 100 = 2,987 x 100 =
6,886 X 100 = 2+100=
9,5x100 = 56 X100 =
3,642 X 100 = 2,97 =100 =
5,8148 +~ 100 = 3,5+100=
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Multiplication et Division par 100 (A) Solutions

Trouvez chaque produit ou quotient.

7,173 x 100 =717,3

3,5+ 100=0,035

1,34 x 100 =134

6,728 =~ 100 =0,06728

7,01 X100 =701

5,8 x 100 =580

6,886 X 100 = 688,6

9,5x 100 =950

3,642 X 100 = 364,2

5,8148 - 100 =0,058148

6,8 ~ 100 = 0,068

7,56 X 100 =756

2,5408 x 100 = 254,08

9,85+ 100 = 0,0985

51607 X 100 =516,07

2,987 x 100 = 298,7

2+100=0,02

5,6 X 100 =560

2,97 +-100 = 10,0297

3,5+ 100=0,035

MathsLibres.Com




